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Negative Contractions

Rewrite each sentence using the appropriate negative contraction from the word box.
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These apples are ripe enough to eat.1)

The manager would approve that decision.2)

The movie was as exciting as the trailer3)

Children should play video games all night.4)

 My brother can ride a bicycle without training wheels.5)

They were prepared for the sudden rainstorm.6)

 The restaurant was open when we arrived.7)

Example: Emma is joining the team.

Emma isn't joining the team.

was not = wasn’t had not = hadn’t are not = aren’twould not = wouldn’t

were not = weren’t should not = shouldn’t cannot = can’t

The team had practiced before the tournament began.8)

restaurant

These apples are ripe enough to eat.

The manager would approve that decision.

The movie was as exciting as the trailer

Children should play video games all night.

 My brother can ride a bicycle without training wheels.

They were prepared for the sudden rainstorm.

 The restaurant was open when we arrived.

Emma isn't joining the team.

 = wasn’t had not = hadn’t are not = aren’twould not = wouldn’t

were not = weren’t should not = shouldn’t cannot = can’t

restaurant
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